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Explain four reasons for studving Social Statistics. (8 marks)

The following are marks scored hy 50 students in an examination:

44 80 75 00 18 45 14 04 &4
510 6% 34 22 8% 0 20 57 28
56 50 47 10 34 61 66 80 46
10 84 S0 47 73 42 33 48 &5
34 66 53 75 0D S8 46 39 69

=R &3

Prepare a frequency distribution table using the exclusive method, starting with 0 - 10,
10:-20, . (12 marks)

The following are the scores awarded by two J udpes: Judge I and Judge 11, in a beauty
contest, involving eight contestants:

Contestamt : A B C D E F G H
Judpe | A1 o7 SR I S SR (o O ) S P R
Judge 11 360 46 33 24 2 18 27 22

(1 Determine the Spearman’s Rank Correlation Coefficient;
(1) Interpret the results in (1) above. {12 marks)

The following are the scores of 120 interviewees for a vacant POSL iN & community
Organization:

Score (%) A0 2 25 3B 50
Numiber of interviewees (fy:. 20 30 50 15 5

Using the data above, caleulate the Harmonic Mesn. {8 marks}
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Explain feur characteristics of 4 2ood measure of dispersion. (8 marks)

The following information relaics o monthly income of & households ina COMmmunity

and their respective number of children. A BERE — gt £l
Household Monthly  Number of Children
Income (Ksh ‘000°) e £ g
{x) L¥) X
|0 5]
i2 6 ! 4
16 5 TRE A
22 i '
30 g 4 S —Tp
(i) Using the data above, determine the regression equation of v on x,
WATITA O m iy
(1) Based on the equation in (i) above, estimate the number of children in 4

household with @ monthly income of Ksh 25 D00 (12 marks)

In a language college. there are 60 students. Of these students. 30 Study French, 25
study German and 20 study both Freneh and German,

i1} Draw a Venn diagram to(present the information above,
|'

(i) Calculate the number of students who study: a7

I. French only;

i Crerman only:

[II.  neither French nor German.
(i) Caleulate the probability that a student chosen at random studics either French

or German. {12 marks}
Highlight four factors to be considered when choosing the size of a sample.

I8 marks)

The manaper of a beverage cormipany claims that the averape content of their bottles of 3
soft drink is 0.5 litres, A random sample of 100 bottles is selected and the mean content

af the bottles 13 found to be 0 45 litres, with a standard deviation of {110 litres.
Test the manager’s claim at 5% level of signficance. {8 marks}
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(b} The annual demand for material, Mx, used in a production process of a company is
S0.00K) units. The ordering cost is Ksh 500 per order. The purchase price of the
material is Ksh 400 per unit, The holding cost is Ksh 200} per unit per annim.
Determine the:

(1) Feonomic Order Guantity (ECK);

(i) number of orders per year;

{iii)  total relevant costs associated with in ventory;

(v} towal costs of the inventory, (12 marks)

B, ia) Explain four rules to be followed when drawing a network diacram. (% marks)
(b) A community intends to invest in either project A or project B. The initial investment

outlay for cither project is Ksh 1 000,000, The following are the expected cash inflows
of each project:

Cash Inflows (Ksh) ;] §b )
o) M
: Year ProjectA Project B 4] RS P B
i ] 200,000 300,000 K e ol
o 2 450,000 600,000
R 3 350000 200000
)
= 200,000 200,000
it
..I.;I
11-:& i The cost of ﬂﬂpftﬂi 15 12%:,
G
o (i) Dretermine the Net Present Value (NPV) of each project.
(i) Based on the results in (i) above, advise the management on the project o invest
B in. i 12 marks)
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7, fa} Lhe following are the monthly wages patd in a community project for the

vear 2017.

Month Wages

{Ksh “0H4)
January 20
February 22
March 20
April 24
May 3}
Jine 32
July 20
Avgust 13
September 22
October 24
November 30
Decemnber 32

(1) Determine the three month moving averages from the information above,

(n}  Based on the resules in (i) above, determine the three months with the lowest
expenditure on wages, (12 marks)

(k) Differentiate between the follewing pairs of terms as applied in cstimation and test of

hypothesis:

{i) Point estimate and interval estimate:

{i1) Z-test and 1-test, {8 marks)
8. (a) Distinguish between each of the following pairs of terms as applied in project appraisal;

(1) Annuity and perpeturty;
{5} Compounding and discounling (5 marks)

(8)  The following information relates to production of three commodities in a comm unity
aver 4 period of 4 years:

Production (Tonnes)
Year Beans Maize Groondouts
it 20014 10 15 5
3 2015 h 10 5
8 016 15 20 10
2017 15 15 1
Present the information above ina component bar charn. {12 marks)
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